[ Efficiency vs vertpos |

~ 0.5

20.45

g
2 04
[S]
$0.35

0.95

102

02
ertr (cr%)

—— DM V000 RO0000000 T —Gioa —TREMOTgiTal _—_RECO

o B3N-Va001-R00000000T—G(oBaI—mKENNewFD 1L RE
[Efficiend == BoVVoaei-Rodenaosat—clanai—kriNewBe —HECS

—— DOM~V0001—"R000000001—Global—mkFitNewDett "RECO

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

Ratio
N

0.95}

8 S 0
7 O N
e S M SR
E ke L
it
SO e
1y
T

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 05
>
80.45
£
D 0.4
20.35
0.3
£0.25
()
0.2
0.15
0.1
0.05

lency

................................

1.0

Ratio

0 5 0 5 10

15 20
Sim. PV z (cm)




	Contents
	Page 1


